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&5 X 4 .(Er,na; 'Firmb(:)(DEEﬁE jj(ﬁzcnié X 4 'Fimﬂgﬁz(?];kiF 'Zln? jj(lfiicm%)é X 4 ,(Er,na: J:iﬁﬁb(:)o)ttm jigiff)é X 4 J:imm(z)a)ttm .Z.n'c)‘I ﬂ(gilitm%)é
1 100kN/mM%#825 | 1.00 (000 ~ 1.03 115.55 |3mZE#BZ 5 -~ - - -| 100kN/mi%#82% | 1.00 | 10.64 ~ 14.00 115.55 |3mE#BZ5 -~ - - -
Zh st 1.00 1103 ~ 882 100.00| FhLs |000 ~ 882|212 11.32 Zh st 1.00 | 5.00 ~ 10.64 100.00 | #hst | 5,00 ~ 1400|212 11.32
2 100kN/mM%#B25 | 1.00 | 0.00 ~ 1.54 120.35 |3mE#BZ D ~ - -| 100kN/m%#82% | 1.00 | 1064 ~ 15.30 120.35 |3mEHBZ5 -~ - -
Zh st 1.00 1134 ~ 913 100.00| FhLs | 000 ~ 913|230 12.30 Zh st 1.00 | 5.00 ~ 10.64 100.00 | #hust | 5.00 ~ 1530 2.30 12.30
3 100kN/m%#825 | 1.00 (000 ~ 0.62 109.24 |3mE#BZ 5D ~ - -| 100kN/mi%#82% | 1.00 | 11.64 ~ 14.04 109.24 |3mEHBZ5 ~ - -
Fnst 1.00 | 0.62 ~ 841 100.00 | FnA4 | 0.00 ~ 841 | 1.99 10.64 ZhnLs 1.00|56.00 ~ 1164 100.00 | =nL4t | 5,00 ~ 14.04 | 1.99 10.64
4 100kN/m%#B25 | 1.00 (000 ~ 052 104.65 |3mE#BZ D ~ - -| 100kN/mi%#82% | 1.00 | 1264 ~ 14.03 104.65 |3mEHBZ5 ~ - -
Zh st 1.00 1032 ~ 810 100.00 | #=hst 000 ~ 810|193 10.34 Zh st 1.00 | 5.00 ~ 1264 100.00 | #hist | 5,00 ~ 1403 1.93 10.34
5 100kN/mM%#825 | 1.00 (000 ~ 0.36 105.36 |3mE#BZ 5 ~ - -| 100kN/mi% 825 | 1.00 | 1267 ~ 14.29 105.36 |3mEHBZD ~ -
ZFhLs 1.00 1036 ~ 815 100.00 | =hs | 000 ~ 815 1.93 10.54 ZhnLs 1.00|56.00 ~ 1267 100.00 | TnLs | 5,00 ~ 1429 1.93 10.34
6 100kN/ Mm% 2 3 ~ - -|3mEEZS ~ - -| 100kN/ Mm%z % -~ - -|3mEEZD ~ -
zh st 1.00 | 0.00 ~ 566 70.66 | FhLst | 0.00 ~ 0.00|1.57 842 zh st 1.00 | 6.00 ~ 6.81 70.66 | TNLSY | 5,00 ~ 681 |1.567 842
- 100kN/ Mm% 2 % ~ - -|3mEEZS ~ - -| 100kN/ Mm%z % -~ - -|3mEEZD ~ -
zh st 1.00 | 0.00 ~ 5.30 66.15 | FhLs | 000 ~ 0.00| 1.58 8,45 Zh st 1.00 | 6.00 ~ 6.15 66.15 | ZnS | 5,00 ~ 6.15| 1.58 845
P 100kN/mM#%# 2 3 ~ - -|3mEEZS ~ - -| 100kN/ Mm%z % -~ - -|3mEEZD ~ -
zh st 1.00 | 0.00 ~ 562 70.20 | FhLAst | 0.00 ~ 0.00|1.59 8.60 Zzh st 1.00 | 6.00 ~ 6.64 70.20 | ENnLSY | 5,00 ~ 6.64 | 1.59 8.50
9 100kN/mM#%# 2 3 ~ - -|3mEEZS ~ - -| 100kN/ Mm%z % -~ - -|3mEEZD ~ -
zh st 1.00 | 0.00 ~ 7.39 94.23 | #FhS 000 ~ 739|203 10.89 Zh Lo 1.00 | 5.00 ~ 10.00 94.23 | #hst | 5,00 ~ 1000 2.03 10.89
10 100kN/mM%#8 % % ~ - -|3mEEBZD ~ - -| 100kN/m%#8 2% -~ - -|3mEBZ D ~ -
ZThLlst 1.00 | 000 ~ 522 65.10 | Fhls | 0.00 ~ 0.00| 1.61 8,64 zh st 1.00 | 6.00 ~ 5.83 65.10 | RS | 5,00 ~ 583 | 1.61 8,64
100kN/mM% 8% % ~ 3ImEBAD ~ 100kN/mMZ#B% % ~ ImERBZD ~
ZThLlst ~ Zzn Lo ~ Zh Lo ~ Zh Lot ~
100kN/mM%#8 % % ~ 3ImEBAD ~ 100kN/mMZ#BZ % ~ ImERBZD ~
ZThLlsh ~ Zn Lo ~ Zh LS ~ Zh Lot ~
100kN/mM%#8 % % ~ ImEBAD ~ 100kN/mMZ#BZ % ~ ImERBZD ~
ZThLlst ~ Zn Lo ~ Zh Lo ~ Zh Lot ~
100kN/mM%#8 % % ~ ImEBAD ~ 100kN/mMZ#BZ % ~ ImERBZD ~
Th st ~ Zh st ~ zh st ~ zh s ~
100kN/mM%E#8 % % ~ ImEBAD ~ 100kN/mMZ#BZ % ~ ImERBZD ~
Fhls ~ Zh st ~ zh st ~ Zh st ~

3
H
M



